5 7 5 9
B ©
5) 3 1 5) 4 3 2 1 5) 4 3 2

11.0] 7.0/ 0.0 4.0 0.0 40| o0.0[ 10| o0.0[ 3.0/ o0.0[ 0.0/ 00 0.0] 00| 0.0
(220.0) |(30.0) | - ) c-) (- )]@00(C-)D)C-D)C-)D]A00DC-)C-)C-D[C-D[C-)C-)]|C (4.9
(100.0) | ( 63.6) [( 0.0) ( 36.3) ( 0.0)|(36.9)|C 0.0)|( 9.D|( 0.0)|(27.3)|( 0.0)|( 0.0)|( 0.0)|( 0.0)|( 0.0)|( 0.0)|(

3.0 3.0 00 2.0 0.0] 0.0] o0.0[ 0.0] o00[ 00| 00 0.0 o00[ 0.0 00 0.0
120.00 |C - )|C - ) c-) C-)D)C=-D(C=-DC=-DC-=-D[C-=-DC=-DC-=-DC-D[C-DC-)]C-)]|(C (12,5
(100.0) | (100.0) | 0.0) ( 66.7) (0.9 0.00({C 0.0)|C 0.0)|C 0.0 [ 0.0) | 0.0)|]C 0.0) | 0.0) [ 0.0) | 0.0)|( 0.0) |(

3.0/ 2.0[ 0.0 0.0 0.0 1.0/ o0.0] o0.0] 12.0] o0.0] o0.0[ o0.0[ o0.0[ o00[ o00] o0
(7.0 [(66.D)[|C - ) c-) C=-C=-D0C=-D)C=-IC=-D[C=-DC-=-DC=-D[C=-DC-HC-=-D[C-)]|( (12.5)
(100.0) | (66.7) | 0.0) ( 0.0 ( 0.09)(38.3)[C 0.0)|C 0.0)[(B.3)[( 0.0)[C 0.0)|C 0.0) | 0.0)[C 0.0)|C 0.0)|( 0.0) |(

3.0] 2.0[ 0.0 1.0 0.0 1.0/ o0.0] o0.0] o0.0] 12.0] o0.0] o0.0] o0.0[ o0.0[ o00] o0.0
C-))C-)H)C-) «-) C-)D)C=-D0C=-DC=-)C=-D[C=-D0C=-DC-=-D)C-=-D[C-=-D[C-=-]C-)]C (12,5
(100.0) | ( 66.7) | 0.0) (3.3 ( 0.0)|(33.3) [ 0.0)|C 0.0)|( 0.0)[(33.3) [ 0.0)|]C 0.0)|( 0.0) [ 0.0)|C 0.0)|]( 0.0) |(

1.0 0.0] 0.0 0.0 0.0] 1.0] 0.0 0.0] 120l 0.0/ o0.0[ 0.0/ 0.0 0.0] 00| 0.0
0.0) | - )| - ) (-) C=C=D0C=D]C=[C=D[C=C=D]C=D[C=D[C=D]C-[C-=]C -4
(100.0) | ( 0.0)[( 0.0) ( 0.0 ( 0.0)|(100.0) |( 0.0)|( 0.0)|(100.0) |( 0.0)|( 0.0)|( 0.0)|( 0.0)|( 0.0)|( 0.0)|( 0.0)|(

20| 1..0] 0.0 0.0 0.0] 1.0 0.0 0.0] o0.0[ 0.0 120 0.0/ 0.0 0.0/ 00| 0.0
(%0.0) |(200.0) |C - ) Cc-) C-)D)BDC - DC-=-IC=-D[C=-D[C=-DC-DC-D[C-D[C-]C-)]|C ( 8.3
(100.0) |(50.0) | 0.0) ( 0.0 ( 0.0)|(50.0) [ 0.0)|C 0.0)|C 0.0) [ 0.0)[(50.0)|C 0.0) | 0.0) [ 0.0)|C 0.0)|]( 0.0)|(

1.0| 1.0] 0.0 1.0 0.0 0.0/ 0.0 o0.0] o0.0[ o0.0[ o00[ o00[ o0.0[ o00[ o00[ 00
(2.0 |(5.9(C - ) (100.0) C-)D)C=-D[C=-C=-DC=-DC=-DC=-DC-=-)C-=-D[C-D[C-)]C-)]|(C ( 4.2
(100.0) | (100.0) [( 0.0) (100.0) ( 0.0)|( 0.0)|C 0.0)|¢ 0.0)|C 0.0)|( 0.0)|( 0.0)|( 0.0)|( 0.0)|( 0.0)|( 0.0)|( 0.0)|(

240 16.0] 0.0 8.0 0.0 8.0 0.0 12.0] =2.0[ 40| 1.0 o0.0| o0.0[ o0.0[ o0.0[ o0.0
(83.9) |(100.0) | - ) 114.3) C -)D(89(C - )C - )|C0.0[(00)(C-)C-)C-D[C-DC-)C-)]|(C (100.0)
(100.0) | (66.7) | 0.0) (3.3) (0.00|(38.3)[C 0.0)|C 4.2)|( 8.3 [(16.7)[(C 4.2)|(C 0.0)|( 0.0) [ 0.0)|C 0.0)|( 0.0) |(




A ©
5) 4 2 1 5) 3 2 1 5) 4 3 2 1

14.0| 8.0 00| 2.0 3.0/ 00| 50| 00 3.0/ 20| 0.0] 10| 00| 0.0 00| 10| 00
(700.0) |C - )|C - )H[C-) C -)C-)[@0.01C -)|(C (- )@ (C-)C-)C-D[C-=-D[C=-)C-)[C-)H[C4%D
(100.0) | ( 57.2) | ( 0.0)|( 14.3) (215 | 0.0)[( 3B 0.0)|( (218 |(14.3) [ 0.0 7.0 | 0.0)|C 0.0)|( 0.0)[( 7.D|( 0.0)

3.0] 3.0] 0.0] 00 3.0/ 00| 0.0/ 00 0.0/ 00| 0.0] 0.0 00] 0.0 00 00| 00
(100.0) |(1%0.0) |C - H[C - ) 1%0.00|C - H[{C - )|C -)|(C C-)D)C=-D(C=-DC-=-)C-D[C-=-DH[C-=-)C-)[C-)|(10.0
(100.0) | (100.0) [ 0.0) |( 0.0) (100.0) | ¢ 0.0) [ 0.0)|( 0.0) |( ( 0.0 0.0)[( 0.0 0.0)[( 0.00|C 0.0)|( 0.0)|( 0.0|( 0.0)

1.0] 10| 0.0 00 1.0 00| 0.0] 00 0.0 00| o0.0] 0.0 00| o0.0] 00| 00| 00
C-C=O[C-D]C-) C=[C=DC=D[C=[C=[C=D[C=D[C=C=D[C-D[C=C-=]C-D]C -3y
(100.0) | (100.0) [ ( 0.0) |( 0.0) (100.0) | ¢ 0.0) [ 0.0)|( 0.0) |( ( 0.0|¢ 0.0)[( 0.0 0.0)[( 0.00|C 0.0)|( 0.0)[( 0.0)|( 0.0)

1.0] 10| 0.0/ 00 0.0/ 00| 0.0 00 0.0 00| 0.0 0.0 o00[ 0.0 00 00| 00
(383 |(%0.0(C - H[C -) C-)D)C-=-H(C-=-)DC-)]C C=-)D)C=-D0C=-DC=-DC=-D[C=-D[C=-DC-DC-D[C3D
(100.0) | (100.0) [ 0.0) |( 0.0) ( 0.0 0.0)[( 0.00|( 0.0)|( ( 0.0 0.0)[C 0.0 0.0)[( 0.00|C 0.0)|( 0.0)|( 0.0)|( 0.0)

6.0] 3.0 0.0] 00 3.0/ 00| 3.0 00 0.0 3.0| 0.0] 0.0 00| 0.0 00 00| 00
(300.0) |(300.0) |C - H[C - ) (300.0) | - )[@EO.0)|C - )|( C - ))EOOC-DC-)C-D[C-=-D[C-=-)C-)]C-)[(20.0
(100.0) | ( 50.0) | ( 0.0)|( 0.0) (50.0) | 0.0)[(50.0)|( 0.0)|( ( 0.00|(50.0)[( 0.0)|¢ 0.0)|( 0.0)|C 0.0)|( 0.0)[C 0.0)|( 0.0)

20| 20| 0.0] 1.0 0.0/ 00| 0.0 00 0.0/ 00| 0.0 0.0 00| 0.0 00 0.0 00
C-]C=D[C-=)]C=) C=|C=D0C=D]C=[C=D[C=C=D]C=DC=D[C-=]C=IC-=D|C=D|C-D]C86D
(100.0) | (100.0) | ( 0.0) | ( 50.0) ( 0.0|¢ 0.0)[( 0.00|C 0.0)|( ( 0.0|¢ 0.0)[C 0.0 0.0)|[( 0.0)|C 0.0)|( 0.0)[C 0.0)|( 0.0)

1.0] 10| 0.0 00 0.0/ 00| 0.0 00 0.0/ 00| 0.0] 0.0 00] 0.0/ 00 0.0 00
(20.0|(BH|C -)H[C-) C-)D)C-)H(C-)C-)]|C C-)D)C=-D[C=-DC=-DC-=-D[C-=-DHC=-DC-DC-)D[C3
(100.0) | (100.0) | ( 0.0) |( 0.0) ( 0.0|¢ 0.0)[( 0.00|C 0.0)|( ( 0.0|¢ 0.0)[C 0.0/ 0.0)|( 0.0)|C 0.0)|( 0.0)[C 0.0)|( 0.0)

20| 1.0 0.0] 1.0 0.0/ 00| 1.0 00 0.0/ 00| 0.0] 0.0 00] 0.0 00 00| 00
(200.0) | (100.0) |C - H[C - ) C-)DC-)H(C-)C-)]|C C-)D)C=-D[C-=-DC-DC-D[C-=-DHC-=-DC-D|C-)DH[CED
(100.0) |(50.0) | 0.0) [( 50.0) ( 0.0)|( 0.0){(50.0) | 0.0) |( (0.9|C 0.00(C 0.0)|]C 0.0) | 0.0)[C 0.0)|C 0.0)]C 0.0) | 0.0)

0.0 20.0] 0.0] 4.0 10.0] 0.0 9.0 0.0 3.0/ 50| 00| 10| 00| 0.0/ 00| 10| 00
(130.4) |(125.0) | - ) [(200.0) 2.9 (C - H[AB.8)|(C - )|( (150.0) ((100.0) [C = )|C - D|[C = D[C = )D)|C - )[C - )D[C - )| (100.0)
(100.0) | ( 66.7) | ( 0.0)[( 13.3) (3.9 0.0)[(30.00|C 0.0)|( (10.00|(16.9 [ 0.00|( 3.3)[( 0.00|C 0.0 |( 0.0)|( 3.3[( 0.0)




